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TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
JE BEHERT 2 1 5, 803, 978
EHET = 1 1, 827, 780
AR LT Y 1 1,703, 700 | Mk (FLE) RS+ 300 m3
2. bmATH ;
EHEER T Y 1 124,080 |{EmEEETE (%) 300 m2
Ak T Y 1 467, 660
TAT 70 M T = 1 467,660 | T &R (HE - BE ) 200 m2
RC-40 t=150mm ;
)8 (§E - BEE) 200 m2
AR BRI EEAS (20) t=50mm ;
HEKHEY) T Y 1 91, 000
R T =Y 1 91,000 |7 V¥¢ANUTRHIRE 10 m
PU1-B300-H300
[CZEHN Y 1 62, 230
oL = 1 62,230 |HRELEEIST uy) 10 m
BB-1-3(200)
BT T = 1 1, 705, 550
ERARI I AT T = 1 411,200 |57 =F V-w 40 m
Gr-C-4E
A,
5 (-4l T Y 1 1,294,350 |F&AE7 ny), SR FLHRE 50 H
A8 - 3AE (ST NBE 1R 100 m
TE AT IR itk T Y 1 768, 000
By )=} = 1 151,800 |3E Y av))-} 50 m2
15 BhELa )=}
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TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
B EY T 2 1 616, 200 | HLAR Y BEAS 30 i
X R T = 1 17, 160
X R T 2 1 17,160 | ¥a =X i 50 m
A E4E W=15cm JE1. 5mm ;
R T = 1 143, 100
TE R T 2 1 143,100 | JEHERE (HA) 1,000 m2
SN AL T =Y 1 221, 430
IEALBREE T = 1 221,430 | tmH 30 4%
KA H
HEYE T Y 1 194, 268
EERUE L T = 1 67, 008 | &l R A 120 m2
TAT7VMERSERR t=15emPLF
TE LB T =Y 1 127,260 | ZRiEH 18 m3
TAT7IV NS
RISy 18 m3
TAT7IV NS
A Y 1 305, 800
B EHT = 1 305, 800
[ERAE Xy = 1 5,803, 978
HiE 2 1 1, 588, 000
BISTI S = 1 216, 000
BGRESCESE (5 L) = 1 216, 000
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TEA | W6 L NA N ATF H XM T

THEXSy - THE - FE5 H7 % & i Gl N
sty (R L) 2V 1,372, 000
ol T X 7,391, 978
e R 2V 4, 560, 000
T AT X 11,951,978
— e PR 2V 2, 588, 022
Tk X 14, 540, 000
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